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*NOTE : Any one subject, is to be atteinpted from Part B.

*a : qrq E t qt{ SF fErq fr*r t I
Read the instructions given on the OMR Response Sheet carefully before you start.
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fEqq

No. of

Questions
Trrfr qt dwr
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' gi6^

Time

HITT{

Part A

q:{T q
Section I
qrg I

Section II

{ilrg II

Section III
gug m

. ;
Section IV

s5 ry
Part B

STrr q

Section V
grg v

General English Comprehension
qFil-q r6qr frq
I-,ogical & Analytical Reasoning
ilffi'd rF fu fdr;il{
Educational & General Awareness

SR{s g+ ry +irqT
Teaching-Learning and, the School

ftRruT-sTilTrrq gq frsrdq
'r' Subject Competence (any one)

R'{{rrrf, qenqnT (d{ qa.)
(i) Science

rcflq
(ii) Mathematics

rrFrd
(iii) Social Science

ril-qrrs rc{Tq
(iv) English

(v) Hindi
r\
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10

20

25

25

20

10

20

25

25

20

Composite
time of

two hours
a
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SPACE FOR ROUGH WORK
r.n 6rd b frrs
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HOW TO FILL TIP THE INFORMATION ON THE OMR IIESPONSE SHEET

@XAMINATION ANSWER SHEET)

. onnn rrrrc-tt?t .r{ UEqr ttri b fttgr

1. Write your complete Enrolment No. in 9 digits. Also writc your correct natne, address

with llin Codc in thc space providcd. Put your signaturcs on thc OMR Rcsponse Shcct '

with datc. Ensurc that thc Invigilator in your cxamination hall also puts his

signatures with date on tJle OMR Response Shect at the space provided. You should

use IIB Pcncil.

or$ Ut arqis{'{Eqr (qqme qrfi) e sffii { fdfuq I f<} T} r{rn it 3{T{r sE
qlq q fu{ q}-s qFfi trdr qi fdfiqq I oMR sfl-rrr rR frfq qfild 3Tq} ERIqR

dfsq I q€ S gfrRtr w-{ ffifqq fd arrq+ qtqT sq{ + f{fiqffi i onan sfi-w rn

Rq TA {qH q{ frfq qfu Elmiqr{ 6r RA g 1 31ffi HB itkd or qq},T wiT
qTFq I

2. All information is to be frlled up with IIB Pencil. The circles corresponding to the digit

are to be darkened with an HB pencil.

Wr {qn HB Efufl 6Kr r{fr qrfi qrfdq | $iqit t €'Td Tfr ft1 HB Ekf, t fi qr-er
- i \

6trTI € I

Sheet.f)o not make any stray remarks on this OMR Rcsponse Sheet.

{s oMR sf,{-rFt rR 
"t{ 

effiifff, FTYilq qA aTrr-{q I

4. 'Writo correct information in numerical digit in Enrolment No. and Examination Centre

Code columns. The corresponding circles should be dark enough and should be filled

in complctcly.

qrqis-{ risT sil{ qfrqrTl *q *s qTa qftTlii t eiqit fr vS qqqT fdfuq t {rra gt

ryt*'Td Ai qrfdq B+{ TS {a t R ES dt qrfdq I

5, Each question is followed by four (or less) probable answers, which are nurnbered l,

2,3 and. 4., You should select and show only one answer to each qrrestion considered

by you as the most appropriate or the correct 'answer. Select the most appropriatc

answer. Then by using HB pencil, blacken the circle bearing the correct answer

number against the scrial number of the question. If you frnd that answer to any

question is none of the four alternatives given under the question you should darken

thc circle '0'.

3 .
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xd-* xrq t erq qR (qr 6q1 {qttrd s.R t, fr r, 2, 3 detT 4 grtr ffid ffi T}

t r rd-q ry{ + 6q w+i *qe q* srn qqtrr q.G frRs qcqT qTR"q ffi enq
q-qtfBm srFrd qr vfr mr -ilTa t I vqtfirs Bqgffi sri gFU I derqrq rm tko
+ qq)'r anr qq=T * m'qiq * eTqi vfr sr-r {EqT ErA w d qr-or dfrq r qR enq
q . A t t u s { { t + A R }  q n  f f i t  q  t * } $ S v S w r + s t a e n r * } e n
'o' ET qlTTr q-GIT qrFq t

6. If you wish to change your answer, ERASE completely thc alrcady darkcned circle by

using a good quality eraser and thcn blacken the circle bearing your revised answcr
numbcr. If incorrcct answer is not crased completcly, smudges will be left on the
erased circle and the question will be rcad as having two answers and will be ignored
for giving any crcdit.

qR silq qli s.r< * qcsi'r qrt, fr q-{A t A BTA ffi gn q1 qs ersl gurqnr
qri r* t tfr T16 fra {tqq 3rh rililfrra sn{ {isl qrd gf, q1 *,rdT qifrq r qR
qerd rtrr 

"1 
{fr da q-fr Frerqr q?ir fr Frar} ,r} 7r { go frTTH q vriii sili

x'fi + q) sa{ fqt gq qr} qTfi silr eid ffi qrs {6 srSfiR frqr qr}n t
:

7. No credit will be givcn if more than one answer is givcn for one question. Thcrcfore,

you should sclect the most appropriate answer.

qFq qs rlq + ffi lls t sTflrs B-fl Rqr q+{r d} qt$ si-s rfr f(a q|{i r qqfrq

3ilT*l q-dffiffi sfuf, eR qr qfi wcqr qRq I

8. You should not spend too much time on any onc qucstion. If you frnd any particular

question difficult, leavc it and go to the next. If you have time left afber answering all

the questions, you may go back to the unanswered ones.

W qs r$T w 3Tfqs qErq r& dqr{q I qR qTqfrl mi Aprs vvq q,b{ drril t,
iir Bt{ dr.gqr 3rqd qr q-{q | {r wii EFr sfr{ A + qrE qR 3Trd6 qrq srq t,
fr enq s{ TFii T{ qTq{T qr F*.t t frq-$T snqi sru lfr f<qr d r
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9. Only one subject is to be attempted foom PART B.

$Trrr E t irqa lffi fr fEs{ ErlFrT t r

You will attempt the questions as undcr :

sTrqql sr{ Ftcn3qn frTi t :

Sl. No, Subject
ffi'qier filrq

(i) Science

f{flq

(ii) Mathematics
.rfud

(iii) Social Sciencc

srqrFrd r{flT

(iv) English
s+idT

(v) Hindi

ffi

No. of Questions
sr+r { ywr

Q. Nos. 81 to 100

TgI *{fli 81 t roo

Q, Nos. 101 to 120
a

n?T €Cqr 101 t Lzo

Q. Nos . LzL to 140
InFTSwr L21 t LAa

Q. Nos. 74I to 160

Twl€wr L4t t roo

Q. Nos. 161 to 180
5FFT LgT 161 t 180
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l .

GENEITAL INSTRUCTIONS

qFITq FTqITI

No ccU phones, calculators, books, slide.rulcs, note-books or written notes, etc. will be
allowcd insidc thc cxamination hall.

q-W 6fl * 3T<{ +$ +'d +}+, *cgfr-er, gR*, wrgs-Fer, a}a-go qr frfu-d +{
EgrR dri H] 3FTTfrqf r t  I

2. You should follow the instructions given by the Ccntrc Superintendcnt and by
Invig'ilator at thc examination vcnue. If you violate lhe instructions you will
disqualified

qflqTr erd q{ sTrs+l *q sTgfls silr f{0'qr-6 trrfi fd T} f{*{if 6r slrFT o.cqr t r
qR eil-q r{+ t{t{ii 6r Riq{ 6ti d} 3ilq+1 etq}q q}Rf, frqr qrt'n r

3. Any candidate found copying or recciving or glving assistancc in the examination will
bc disqualified.

.fiqrT n qR d-i vnqTrq m-o ert Eq qr sorqdr tt gq sr qTkr fit gq slzlr rrurr
iir 3t srnnq qifrT fdqr qrtm I

4. The Test Booklet and the OMR Response Sheet (Answer Sheet) would be supplied to
you by the Invigilators. After the cxamination is over, you should hand over the OMR
Response Sheet to the Invigilator before leaving the examination hall. Any candidatc

who does not return the OMR Response Sheet will be disqualifred and the University
may take furthcr action against him/hcr.

srTqftl f{frqr-dr rRT yfiqTT qR-sT er\ onan strr-E{ R} wfi | qfreil * qqTuil Elt
q{ qfiqTr sqT RH t q-dd qlq-6i oMR &R-q:r f{firn-s q1 qh tqT ETRq I q} qfrenrfr

erqt oun sf,{-w{ q1 q-fr tcmr e, sS 3{q}q *n-a nqi qrhTr 3rh ffiuTdq
Tgt tro-q srTt 6ffi et'n r

5. AII r:ough work is to be done on thc test booklet itself and not on any othcr papcr.

Scrap paper is not permitted. For arriving at answers you may work in the margins,

make some markings or underline in the test booklet itself.

€*ft {s 6d rrfr$T gftsr q{ A fsq qr},Tr silT ffi Brer sFrsT q{ Tfr | 6rrrq *
e)$ erq g69) 6i sqqfr q-fr t I Tati d6 qdqi + ftTa silqs) qfrqT gR-*r fr
qrGrii fr mrq m-G, go fr{nq aqr} qr wt tciB-d" qa} +1 %+rfr t r

the

be
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6. The University reserves the right to cancel scores of any candidate who impersonates

or uses/adopts other malpractices or uses any unfair means. The examination is

conducted under uniform conditions. The University would also follow a procedurc to

verify the validity of scores of all examinees uniformly. If there is substantial

indication that your pcrformance is not genuine, the University may cancel ypur scorc.

ffiffiqq ffi t0 qW + qrqis ft{R *.ri 61 3Tf}rsR rrsfi t v} oEw
qRUT q.{dT t qr q,}i Bf;q gwrr aTq-dRrT t qr ffi,6q6v t w er-+Fn qFrq nq}q

6q6r t I rrfrqTr q6-sqq RTffi + sTdq {qrfod +1 qr {fi t r M*qrim a'ql
qlqiTtsFir + qrwiifi 6r qrrrff qfisqn 6q q qH ql rmqn*el s{qrr+Tr I qR rqiq

€hd t f6r

t l

7. Candidates should bring their hall tickets duly issued by the llegistrar. In the event

of your qualifyi4g the Entrance Test, this hall tickct should be enclosed with your

admission form while submitting it to the University for seeking admission in B.Ed.

Programme along with your testimonials and programme fec. Admission forms

received without hall'ticket rn originat will be summarily rejected.

qffi o) ge fuq gnT qrfr fr-qrrqr Erd fr-*-c etrr qrFq t qR eil-q y+{T qfiqiT

fr A.q Strd ffi qre t fr fr.w. 6r4fiq q qlyr fu fw+rwrw fr s{q} {qM-rH
\  \ \  \  \  ^  \q *{rq {ffi R g{ Tqd xfur qT{ * qrq {q 6rm frse 6} \qd-{ m.r+r qrFq r

q) qAvr qfC fd{r Itr 6RT f-+-c t qrq f+,A q,.rti 'r€ qisfr tih qr t+tw or Rqr
\qr{Fn I

3{trfsTFtwIEF 3ilsrfr qfr t, n) ffi 3ilr1} qlqis Fil{R q-{ qilfr
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PART A
SECTION I T GENERAL ENGLISH COMPREHENSION

Directions (1- 10) : Rcad. the fottowing passage carefully and, picle out the best answer out of the
four choices giuen in tlte questions thqt follow :

Great thinkers, though universal in their teachings, can be properly understood only in
relation to their times. Buddha has been widely misunderstood. He has been widely acclaimed by
positivists, agnostics, atheists, and ethical humanists, as preaching their philosophy. Budilha,s
teachings can be correctly apprcciatcd by understanding India of the 6th century B.C. in which he
lived and this is a difficult task.

In the 6th century India, there were different schools of thought but all the schools
agreed on transmigration of souls, the philosophy of Karma and man's final goal of Nirvana.
Buddha accepted these doctrines though he denied dogmatic theologies. But Buddha's contribution
was the emphasis on the supremacy of the ethical. [Ie laid stress on the need for pacifying the
heart and following the moral law Suffering could be ended by silencing the appetites of the body
and exercising rigid control over our cmotions.

Buddha was interested, not in God but in man and human effgrt. Human beings could
raise themselves even to divinity by their efforts. Even though lacking devotional elements,
Iluddha's teachings are essentially religious. Buddha combined. in himself spiritual profundity,
moral strength and discreet intellectual reserve. With the lapse'of time his service to humanity
is being increasingly apprcciated. His messagc has a meaning for all time.

1. Great thinkers can be properly understood by

(1) undcrstanding India of the Gth century B.c.

understanding them in relation to the period they lived in

correctly appreciating Buddha's teachings

reading and understanding their thought and philosophy

According to the passage

Buddha did not accept the doctrines prevalent in his times

Buddha did not contribute much to ethics

Buddha did not believe in dogmatic theologres

The doctrine of Karma was not accepted in Buddha's times

2.

(2)

(3)

(4)

(1 )

(2)

(3 )

(4)

B.  Ed .12007 ( B )



WI: t f l t qFq '66du

fieh G-n),ffifun q/@< * srqwfrTdt r.ar{ ss q{ Rq,rq y{t + B-dd } wr
ffi i'C vdd sd rrt gfrq t

\ \  Aqt rrdrt ltnfst, ff lq+or r{iHtq, E{R"FF €, eTq} s{q t {i-+i t a qq-ar qr

vq,ar t I gq s) qFFF w ii re,rd s{flr .Tqr t r q+onqTF+it, etffirii, Ftffiiii
nqr *ftr+ i sa qqi <{q qT rrm s{i qTdT r{Hr t I Sq 41 RTqtT3ii * qna

fri tqT-Td Ed rrdTd ,d vrg*-r Ei d-s rtFR t q{aT GTr etrf,I t eirtd rr*r eTlfu{tq
ssr {RTqr fr g.iT w fuq tqr +.rtr sriqilTa 6fa-{ ild i I

iqT-S dd {rdT-<r t qrcc fr +gt x+n qr frqTiqnrq eit e-FF{q t aqTR €tfi
Hqqrq sil-dr + grfu, EFf + <vh € qrqq h qrq €fl Frqfur * f{rq if rroqa t r g-q
i E-q @ 6] S6R fqrqT t, FF ,e.€i qTffis fsqt-;dErE d sffit*R fuqr t, f+-g s--{6I
qt'Krq +rd-sf,r nzrl FqrqR afr squa'r +1 q-ilquf qmi t qT r s-dl €qq fr vnfu qqn
q-G qi 3{rq{qirdT nqr +frfidr * t{+it * sr{-s{"r q{ ffiq ce F<qr r grei 6t srq qft{

+1 r1u s) vn< ori a.qT Eqri +'it qr Eqf,r-t f+frq q,G t 6 v+ar:t ,l
- --q, -gqi er,r efq ${+t d ,Tfi ql qm qw e*r qp4q.yqnit it ,fi | eTqfi gTqqT eil'{

sTC xq.cfi t qp4q oot enr+1 tT€ q1 ff ='" Tdr wFdT t, trqR qfu-R-q*fr ffidi *
F-{r S'ga +i ftnil( gq.Fq fr wffi-s t rgq * gi-<{ siTt4TFqs'rf,{r$, t_Rs T-ffir der
dkfi ssaT sT qusR qqTtrd t r qqq'$ q66 Af * €Tq-qrE sqh n-{r 61 rt{ qrrfiT

-q1 t-qr qr 1M qqm t) ror t trqirT {tq'r s$ 6rf, + ldqrsr*fe d'l

r. q-dr{ FqTcif +} ds t ffi ERT qrflr qr vqar t t

(1) i.t ua Ylnr<r +, qnf, dl qqgi t
(z) fuq trd d a G t ss ore +1 €TtfldT t B-€ qq-fl) t
(B) qG q1 frRTFii qr *+-S-+ qqTq{ 6"ri t
(4) F{fr ffi 3iR <{tq sT erqq-q fii neT wgi q

^ \ \
2. qR-6-E S q-gqR

\(1) gq a w ffi d rqi-s'R. € f*-qr q) r{+ qqq trqqr{ if t
(z) gq 6r iftrs {nr{ fr 3Tfirs $"Krr rS t.
(B) gq q'r fr{'flq E-d-{ffi tr<-s E{tq fr trfr qr

(4) ga s sqq qri Hr ivqrfr FfrqR qEr i6qT rrql qT :

B. Ed . t2007 ( e



3. Ilight control ovcr emotions will
(1) end suffering

e) makc onc suprcmc

(3) lcad to dogmatism

@) bring onc closcr to God

4. Iluddha gavc morc importance to
(1) God and not human bcings

e) Iluman beings as wcll as God

(3) Ncithcr God nor human beings

(4) Human bcings and not God

5. Accordiry; to thc passagc, can Buddha's tcachings be called religious ?
(1) No, because he did not tcach about God
Q) Ycs, certainly
(3) No, because his tcachings lack dcvotional elements

' @) 'I'hcrc is confusion about this aspect

6. 'l'hc diffcrcnt schools of thought prevalent in Buddha's timcs beljcvcd in
( 1 ) T r a n s m i g r a t i o n o f s o u l s ( 2 ) D o c t r i n e o f , K a r m a

(3) Nirvana @) All the above

7. Iluddha laid strcss on
( t) dcvotion to God e) rituals

(4) ethics and moral law(3) praycr

8. According to thc passage, Iluddha's tcachings are cssentially religious because of
(1) spiritual dcpth

Q) moral strength

(3) not being purcly intcllectual

(4) All the abovc

9. "IIis mcssage has a meaning for all time.,, This is a 
/

(1.) simple sentence (2) complex sentence

(3) compound sentence , (4) phrase

10. In thc sentence "Bud,dha's teachings are essentially religious" the word 'essentially'is a
(l) noun (Z) vcrb

(3) adjcctive (4) adverb

B.  Ed . t2007 (  1 0  )



B. dt'ii qr efidd frArui t *tn ,
(1) g:rsT s'r F
(D q-dfis Bi{ q+q qin

4.. gq t'sTfq-d qte fqn ft-qr
o) irqi si a ft qEq a)

, (?) ruY frql.tr.+t ft-n +)
(s) 

""** 
*i'"n 

" 
og* d

'(+) 
ruq-qn +1 q fu *qt E)

d. qfidE * wEvn, fir gq +1 ftq{pif +} sTrffis 6€r qT s*nr t u
trr 1S, dttu e-di *q-r * qt fr frR{r q-fr {
(2) d, erE[q fi

(4) gs Fqq fr q-+ t

G. gq * qqq ii Try @ * mrd qEsqFit *r frq-qrq qr
(1) sTr.qr * gqd;q (3TrcFTq{) it eti q.C + fuqr;a fr
(3) Frqtq fr 

- 
Q) wfs q$ ii

\ a \ ^

7 .  gc t f r .qv t f t f c+ r  l
(1) {w{ sl t{fu'w
(3) qrdqr qt (4) sTrrlrwr€{ dEr +Ffs ftaif .rr

8. qn@q * wgen ga m M 5q Fq t qdsqafi i,
(1) sTrqrfiqs q6ni + slioT
(z) *fr-* q.e-or * onor

, 13y aitffi FW sq t qlf{n q& t
(4) .q€rr qql * q.R"r

; e. "3q* *ffi 6 Fffi qltrqf,r t l" zrd q*rq t
(1) qFIRq qrfi e) frffi qrfi
(3) wr6 rlFT

r0, "gq +1 M gs 6q t qTffi-s $'r - {s q[fi if !w sq t' rrd {IE t

(3; 1-Eqrqq (4) l}5-ql-l-EqTqur
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SECTION II : LOGICAL & ANALYTICAL REASONING
I)irections (11- 14) : In the following questions an incomplete seri.es of numbers, with one blank

i.s giuen. Find out the best suited missing number frorn the given alternatiues,

11 .  0 ,  3 ,  B ,  15 ,  ?

(1)  18  (D 20

(3) 22 u) 24
12.  g ,  lg ,  27 ,36 ,  ?

(1) 45 (D r25
(3) 54 (4) 46

13. 49, 63, g0, gg, ?
(2) 720( l )  118 Q) 720

(3) 121 (4) 130
14.  2 ,  g ,30 ,  93 ,2g2,  ?

(1) 849 Q) 846
(3) 649 (4) 746

Directions (15 - 18) : In each of the foltowing questiotts there are fiue groups of letters. First is
the primary one, followed, by four out of wlticlt one is different frorn the rest in sonxe way.
Id.entify this odd mcmben

15. KIIIG

a. PNMI,

b. ywvu
c. DMLK

d. GlrDc
( l )  a  ( 2 )  b
(3)  

"  
@)  d

16. ANBO

a, CPDQ

b. ERI'S

c. GTIIS

d. IVJW
( 1 )  a  . ( 2 )  b
(3) c (4) d

I-7. IIDCII

a. DFEG

b. FHGI

c. IIJIK

d. JLKN
( 1 )  a  ( 2 )  b
(3) c (4) d

B. Ed . t2007 J  ( 1 2 )



Erus rr : irrftFo wi ffiqunqo q*
^ . r 1  r \ \ '

ft{w u-74): ffi rri} f ei4ii 6T q-f orfd "isdr d rd d @ €cRi fr qq
. s6tea d I Rq W fudt f t {qtfit6 :sg-d gH qE 6l q€qLa *?&q I

11. 0, 3,  g,  75, ?

(1) 18 Q) 20

(3) 22 (4) 24

12. 9, 18, 27,36, ?

(1) 45 Q) L25

, (B) 54 (4) 46

13. 48,63, 80, 99, ?
(1) 118 (2) 720
(3) r2r (4) 130

1 4 .  2 , g , 3 0 , 9 3 , 2 9 2 ,  ?  _
(r) 849 Q) 846

. (3) 64s (4) 746

fdyr rrc-rc): faarfuffi wii i ainerl ryiqd 6 E"ii 6r Wi frqT qqt d r qadr q-(

: vrEfrq 4t vv4 qqd @ qKqK rE q*dff i .  d74 E wr w srf lrdgfr qd.
\ ^ { + ' - +

sqi Fffi d 1 5s .:r$ v< a) u@ii t

I.5. KIITG

a. PNML

b. Y\jwu :

cl  DMLK ,.  .  :

d. GEDC
(1) a Q) b
(3) c @) d

16. ANIIO

a. CPDQ

b. ERFS

c" GTHS
. 

d. IVJW
(1) a Q) b

. (3) c @) d

I7. BDCE

a. DFEG

b. FHGI

c. HJIK

d. JLKN
(1) Q) b

(3) c (4) d

8.  E d.12007
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19. Reaching a place of, interview on Friday, I found that I was two days earlier than the
schcdulcd day. If I had reachcd there on the following Wcdncsday, how many days late
would I havc bcen ?

18. MI-,I\TO

a. DCFIF'

b. SRTU

c. IIGIJ

d. VTIXW
( 1 )  a
(3) c

(1 ) 2 days
(3) 4 days

23.

24.

(2 )  b

@ ) d

(2) 3 days
(4) 7 days

Directions (20 - 24) : In each of the following questions there are five fig:ures. First is a reference
figure. Among tlte answer figures one figure does not belong to the class to which the first
figure belongs. Identify this odd fi,gure.

lleference b-igure : Ansuer k'igures

20.

21.

(3)

22.

(4)(3)(2)(1 )

(4)(2)(1 )

(4)(3)(2)(1 )

A A A A
(4)(3)(2)(1)

(4)(3)(1 )

E oA
A/- - - - - \

t -  -  -  -  - l
t -  -  -  -  - l

|  -  -  -  -  - t
I  -  -  -  -  - t
t - - - - - l
I  -  -  -  -  r l

t -  -  -  -  - l
|  -  -  -  -  - l

t - - - - - l
t -  -  -  -  - l
|  

-  -  -  -  - l

qt f l
l l l
i l l
i l l
f t l

T
I
I
I
I rAl = = = = = l

|  -  -  -  -  - l
|  

-  -  -  -  - l

A A A A

h N A
/-\\ N
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18. MLNO

A, DCEF
b. SRTU
C. HGIJ
d. VTIXW
(1)  a
(3) c

(2) b
(4) d

(2) 3 R{
(4) 7 ftn

s-<t' enyft:

K t l
l \ t l

t \ z l

l \ 1  I

1 1 ' l 0 A
A
G--=: =\ .
t - - - - - t
|  -  -  -  -  - l

t -  -  -  -  - l

t-r
I  -  -  -  -  - l

I  
-  -  -  -  - l

l : :  =  =  r l
I  -  -  -  -  - l
|  -  -  -  -  - l
I  -  -  -  -  - t
l -  -  -  -  - l

l - - - - - l ffi
t l
t l
t l
t l
l l

I
I
I
I
I LA

(4)(3)(2)

(1) (2) (4)(3)

A A A A

A A A
(4)(3)(2)(1)

(3)(2)(l) (4)

(3)(1)

re. fdEm-"qRErAffiqrqT-rfrR{sFTvt qffi vt w rdT fs ggfrwrfit { fuqEA
sTT rr+r q r qR t qtf qrQ grqn 6 {g+ar, ni ff @ Rr ffin dar z
(1) 2 r{{
(3) 4 fen

fitq tzo - 24) : f-+ Aq' ryq rrA t ,tfE wrtfdqi E7 ,t{ d I sEq elTTfu s@d etrfn d
r,qr fr an f C dr d(Iqa dnffifr C l?ffid d aqr q-s ?-0 A F77 d I sq-S rtr*
f,{T qrrfr q1 vwr{ E* |

20.

2L.

22.

23.

24.
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Directions (25.- 28) : In each of the following questions, two statements are followed. by two
conclusiorts. Assuming that the first two statements are true (howeuer absurd, they may be),
decide which of the two conclusions follows strictly from the giuen statements. Select the
most appropriate alternatiue from the giuen ones.

25. Some houses are flats.

Non e of the flats is vacant.

Conclusions :

I. Some houses are vacant.

II. Some vacant buildings are houses.

(1)  Only I  fo l lows

(2) Only II follows

(3) Roth I and II follow

(4) Neither I nqr II follows

' 26. All mangoes arc fruits.

All fruits are not eatablcs.

Conclusions

I. Mangoes are not eatables.

II. Some mangoes are e atables.

( 1) Only I follows

Q) Only II follows

(3) Both I and II follow

(4) Neither I nor II follows

27. All birds are mammals.

Mammals do not lay eggs.

Conclusions

I. Birds do not luy eggs.

II. Some mammals are birds.

(2) Only II follows

(3) Iloth I and II follow

@) Neither I nor II follows
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fi{w tzs-.28) : ffifud nrt' f saa qw f d aqr+ &q rq d F?"+ A firq-d ffi
'rq d /, qg ryq d'# 6wT 6l se qrde gq (nd + Crd? d td- +ql + dD wq
qd qdd B +,tqsr @ drfu nq 0 *rd d I &q' w ffi F + vEtn'a sqq?F
tu6w gt t

25. g;s q_*n qde de t r
t{ 'ri q+c srd qA t r
M :
r. gd qsn rgrfr t r
rr. gCI wei Rfu{ q*r+ t r

(1) *+q r qfr t
(2) *-+o rr q6i t
(a) rq rqtq} q-d t
(4) rq il+if fi t dr$ S FS qA t

26. q$ silq qe e}t t r
q$ sd uri-+'q +fr di t r
M ,
r. e{rq srl-+'q +& dt t r
r. gB B{rq qi-q}"q t}t t r

(1) *+o r q-fi t
(2) tq-e u rei t
(3) rs il*it vdr t
(4) rs rqtii fr t +i S q6i aA t

27. sS qqfr wqEft t r
R{qrS qG r& R t I
M :
r .  RfrsT"B+fr t t t  r
r. gm wurfi' qqfr t I

(1) *q-d r Ffr t
e) *-+e u rd e
(B) rq il+n qfr t
(4) Is il+it fi t q}-$ S vS rA t
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28. Alt men are rivers.

Some rivers are girls.

Conclusions .'

I. Some girls may be boYs.

II. Hira is not a Frl, so he is a river.

(1) OnlY I follows

(2) OnlY II follows

(3) Both I and II follow

(4) Neither I nor II follows

Zg. Study the following table of words and their code

Words Codes

to find a suitable decode for PSWV'

CTTAB

DUST

PONNT

EVIL

(1) FILM

(2) ZEST

(3) FLIT

(4) SLIM

30. Which of the

a. in

b. at

c. un

d. pre

(1 )  a

(2) b

(3) c

(4) d

MBKL

NECD

wxr

OFSV

following is an odd one in the series ?
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zB .  q r ruqq f f i t l

Ss qffi defrqf t I
M :
r. Ss dcrsqi il.ffi ET TrfrTr i I

rr. Ekr arr*1 qfr t, 
"Fq 

q6' rrE] t I

(1) *-rn r qr$ t
(z) *{n n vfi t
(B) rq rrqffi q61 t
(q rq rqtfr fr t qt{ q1 q-fr qfr, t

2s. Fr'irdfufr drfu*r it wq e s{* ds rqq w t r psvw f*s wq qr de dqr z
I '

rrq ' stg
CRAB MBKL

DUST NECD

PONY TYXI

EVIL OFSV

(I) FILM

(2) ZEST

(3) FLIT

(4) SLIM

Bo. ffifua "tsdr fr q14*r H'E{q ++f, t z
a. in

b. at

c, un

d. pre

( 1 ) u  
,

(2) b

(3) c

, (4) d
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, SECTION III : EDUCATIONAL & GENERAL A\ryARENESS
Directions : Indicate the correct o.nswer.

3L. India has been described by the Constitution as

(1) A union of states

Q) A federation of states
(3) Quasi-federal

@) None of these

92. Which of the following is wronggt matched ?

(1) Qutub Minar Aibak and Iltutmish

(2) Red Palace Balban

(3) Alai Darwaja - Alauddin Khilji

(4) Dhai Din Ka Jhonpara Ibrahim Lodi

33. The most dense planet of the Solar System is

(1) Sun (2) Jupiter

(3) Mercury Q) Earth

34. The frrst Indian Railway train journeyed between

(1) Bombay and Pune

Q) Pune and Ahmedabad

(3) Bombay and Thane

(4) Howrah and Kharagpur

35. In the manufacture of safety matches, which of the following materials is used to coat the
two sides of the match-boxes ?

(1) Yellow phosphorus

(2) Red phosphorus

(3) Glue

(4) Glass powder

36. Which one of the following rights was described by B.R. Ambedkar as the heart and soul
of the Constitution' ?

(1) Right to Freedom of Religion
(2) Right of Property

(3) Right to Equality

(4) Right to Constitutional Remedies

B. Ed .12007 ( 2 0  )



icrrs rrr : dfdil-tr sd Hrflq +r{r
f?dw : rd crr gfrq r

sr. riFsTH t srgvn sTrcf, .$r qdrqrrqr t
(1) {-eit il {q
(z) {rsif sT €{d (Hflr)
(B) ed_u{6
G) r+nt+$Tfr

s2. i+qfrba q q f*'.ssT Fr€Tq .rlara t Z
(1) S$q fr{R tq-* nqr FgdFvr
(2) drq Er{f, - Wr,$T

(B) ereri q€rqr srdrsfr Ftrdr ,
(4) €ri f{{ qr SiqEr wrfdq d{ : i

BB. ett qu-sf, q.r trqtlerm wq ro t
(r) $ e) Tdsfd
(3) gtl @) Yd

34. qyTrT q-{dr.T wrfl-sr sT q:{T FltrilTil-Gld g H lrFtFF qlq g{ eII /
(1) qq-$ 6q1 T+1
(2) T4I WIT sf,{qdF{f(
(s) qr{€ f,qr qt

(4) 6r€t defl s.srTs

85. M Entr€ + Frqiur fr frqkfuG' fr n *t+* nrrfi qlfuq t H + +if eh m.Tri *
tuqqgmfrtrA ?
(1) fimI sffiq
(2) qm qffiw
(3) etq rq)

i(4) qtfr ql q-sst

86. FrE{Rfud it t fus eTfir*R d el.sTR. qdffir t 'riR*rn +1 e+reqr etr E{q' qdptT
q r ?
(1) srTffi-d Rti*dr sT sTfsrfin
tzl qEqR Hr 3TRrfiR
(B) qqFrf,r sT stfLffiR
(4) {Atnf{d swm ql oTRrfin
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37. The production of cultured pearls is an important cottage industry of

(1) Belgium

(2) New Zealand

(3) JaPan

(4) West India

38. Thc credit for integrating the Indian Princely Statcs goes to

(1) Sardar Patel

Q\ Pt. Nehru

(3) Dr. Rajendra Prasad

Q) Dr. Zakir Hussain

. 39. Who was the political guru of Mahatma Gandhi ?
t

(1) Dadabhai Naoroji

(2) Bal Gangadhar Tilak

(3) Madan Mohan Malviya

(4) Gopal Krishna Gokhale

40. Lambadis are concentrated in

(1) Kerala

(2) Andhra Pradesh

(3) Karnataka

(4) Orissa

41. The last Mughal Emperor was exiled by the British and sent to

(1) Andaman & Nicobar Islands

Q) Lhasa

(3) Rangoon

(4) Bangkok

42. The Servants of India Society was founded in 1905 by

(1) Madan Mohan Malviya

(2) Dadabhai Naoroji

(3) Motilal Nehru

(4) Gopal Krishna Gokhale
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s7. qtqd qtfr H'r rnrfi sEi iFT ErEHfot gle{ But'T t ?
(1) ffiqqq
(2) q. cfiSos

(3) qFIl;T

(4) qRqq qKf,

88. qrcdq fufr {reii sr qqt-s.ruT m.d sr Aq ffi t ?
(1) vrqn fr
(2) q. t6F i

(B) sT. rr$q :r{TK
(4) sT. .qrhl gfu

Be. qornT 'f* + {rs+trs Tt, *h,}'?'
(1) EKFTT{ +t-s
e) qrs 'iqnn fdffi
(s) rcn frrq qrcdq
(4) 'ilqrd Fryr'hsA

40. eTqrfi mf *F<a t z
(1) EF-{d

(z) gTr+T xt{r
(B) q,qiffi

(4) s€qr

4r. .ii-S i S'r*it * nFilq Erffrc d rncr q gwrfu q.'r *-ri ter qr ?
(1) 3{usrTFr n?II ffi sTq,K ::
Q) GTqI.

(3) {rtr
(4) +sts

42. { qt4 sfs €trs+r M fr rgos if *vrq{r ffi anr *'r$ fr I
(1) q-cq fret qt$qrq
(z) qqflrii qt+Sr
(B) qtfrfld +d6
(4) 'ilqrd y.r 'M
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43. Sound travels fastest in

(1) air (2) water

(3) vacuum (4) steel

44. Which of the following is an east flowing river of the peninsula ?

(1) Narmada (2) Cauvery

(3) Mahanadi (4) Tapti

45, Which of the following peaks is not situated in the Himalayan range ?

(1) Nanda Devi (2) Godwin Austin

(3) Kanchenjunga (4) Dhaulagiri

48. The principle of Dynamo was discovered by

(1) Michael Faraday (2) Albert Einstein

(3) Max Planck (4) Sir Humphry Davy

47. 'Ihe most important Rabi crop is

( 1) Rice

(3) Barley

(2) Wheat

(4) Jute

48. A clock has marks only on its dial. What time is likely to be read in a plane mirror opposite
to the clock, when the clock reads 4.25 ?

(1) 7.25 (2) 7.35

(3) 8-25 (q 8.35

49. The national flagship programme -'Sarva Shiksha Abhiyan' provides for

(1) Free and compulsory education to all children in the age group of 0 to L4 years

Q) Free and compulsory education to all children in the age group of 0 to 18 years

(3) FreO and compulsory education to all children in the age group of 6 to 14 years

(4) Free and compulsory education to all children in the age group of 6 to 18 years

50. Integrated Child Development Scheme (ICDS) is run by

(1) Ministry of Human Resource Development

(2) Ministry of Women and Child Development

(3) Ministry of Rural Development

(4) Ministry of Child Labour
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4s. sEfr vqiFrs ftq 'rft t 6Ef 'rfr sffi t ?
(2) wT(1) qI3

(B) Ftr @) ffim

44. rqqrf,rqd q H ffrsr HrqgTq d, 5e rq{[ +,r sin fr{ qren rqr e ?
(1) qtrqr e) qr+fr
(B) qflq{ (4) dFfi

45. f{qfunsd fr t +tnfr rier lilngq {€eT fr Rrd rd i ?
(1) ;r<I t{ e) rM{4 $fkq
(B) iitrfiir[ G) qMrR

48. qqhfr + Rrdra il ffiqR fqs) p*q, 2
(1) qr$o,d m e) tgJ B{Ri€T$q

(B) lF$ dfi e) m rt*1 tql

47. Fqtfiffi q-dewi {qr qi qFf, t
(1) rTFr Q) t(
(B) qi G) W

48. !s q$ * *qe srqrT q{ p6 etfu,o t rcrs1 + ffid td vrr.m q{ur fr qt+eT qqq
wr qrg'n qqf* wf 4.256r HET Eyttfr t ?
(1) 7'25 (D 7'35
(3) 8.25 (4) 8.35

4s. 'Trd RrqTr qfl1qJ-q' qrq * n$q rrctq + o,dmq d qdf ftTFtr 'rry ?
o) o t r+ q{ tr+ * eng E'i + q$ Fit ig firg6 q4 sTFr+d RTqTr
(z) o t rs q{ n-* t eng Ef + vrfr qaif ig fr{as qA sTffi Rr{r
(s) o t r+ q{ ?rs * wg Et + q,fr Fit ig frgffi qd s{Fffid ftqr
(4) o t re q{ r* * srq q,t + qS Fit tg fu'Trs qi srnr+r{ Rrur

b0. qtf+f, qrm fffi-s q.r4fiq (rcDS) qT rtqrcr ffi enr ildr t ?
(1) qr;rE {qrq{ ksrq t'TRrq
(z) qfuTr nrti qrd f{flq {rrdq
(s) qrfrur trsrq dTrffi
(4) qELFI {Tmq
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51. Education is the subject of the following in the Constitution :

(1) State list

(2) Central list

(3) Concurrent list

(4) All of these

52. Education Commission in Independent India which comprehensively covered aII segments

of education was chaired bv

(1) Dr. A.L. Mudaliar

(2) Dr. Triguna Sen

(3) Dr. S. Radhakrishnan

(4) Dr. D.S. Kothari

53. Significant recommendations about girls education were given by

(1) Tliguna Sen Committee

(2) Gajendra Gadkar Committee

(3) Chief Ministers Conference

(4) Durgabai Deshmukh Committee

54. National Policy on Education (1986) had recommended state expenditure on education

(1) 8 percent of G.D.P.

(2) 4 percent of G.D.P.

(3) 6 percent of G.D.P.

(4) 10 percent of G.D.P.

55. The main concern of National Curriculum Framework - 2005 brought out by the NCERT

has been

(1) Revision of the goals of education

(2) New methods of teaching

(3) Vocational education

(4) Reducing the academic burden on children
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br. €foTH + qtrt'fr Frrafcm fr _t p6 f**mr F{q t , ?

(1) vw gfr
e) ffiq qfr
(s) qq-{tr fqif*te) q'S
(4) rq R$ 6r

52. Etir qno it RTqTr + q*fr eirfr q ft|qa q,.rt qli RRIT 3il+T qT alqqi-dr ffi
q1 ?

(1) sT. q.qd. Tqrdqr{
(2) c,i. frgq +{
(3) si. w. {I?TFUR
(4) e i .S.w.qf f i

bB. qrFffiFif qi RrqTr * sqq fi Tildtui {iEfr fsr$i 61 4 ?

(1) fuJ'r t-4 sn4
(2) rlsfq rfSS'{ q-r1gT

(B) gq qn?iT 6T siirs
(4) slq-{ wr5g 6{cr

64. trfr nGTr tfr rrgsol i uq anr RRTr q{ qq q;{+ si ffi{r +t

(1) c.D.P. qr s rfrqrd
(z) c.D.P. *r + qRi{rf,

o qRwrd(3) G.D.P.6l

(4) c.D.P. thT 10 qFdYrd

56. W.e1.{.s{R.8. ERT fuR f*q 'rq {rfr q|arfiq qi 6q\sr (200b) t gw ffirrt'dnq
ftqq qr

(1) RtqTr + qqq] sT grffiqft'T
(2) RRTUI *1 Tq1 frfird
(B) aI|z|t|IFFF I{RI[

(4) qdi + Sft-s .TR d 6rT 6*tr
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SECTION fV : TEACHING.LEARNING AND THE SCHOOL

Directions : Ind,icate the correct answen

56. What would be the most acceptable order in the process of class-room teaching
(face-to-face) ?

(1) Presentation - Motivation - Practice - Evaluation

Q) Motivation - Presentation - Practice - Evaluation

(3) - Motivation - Presentation - Evaluation - Practice

(4) Presentation - Motivation - Evaluation - Practice

57. Which will be the best way for concentrating the attention of the students in your class ?

(1) 'Io ask them to behave properly

(2) To warn the whole class for the consequences

(3) To ask unruly students to go out

(4) To engage them in activity

58. School and community are inter-related to each other. Community can contribute to the

school's development by

(1) providing services

(2) sending their wards

(3) providing frnancial help

(4) offeringsuggestion

59. Teacher's prime responsibility Iies in

(1) planning good learning experiences

(2) communicating

(3) inducing learning

(4) keeping students active in the class

60. A teacher in the class should keep his speech

(1) with high volume

(2) intonated

(3) moderately average

(4) with volume sufficient to be heard by last row
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, Erus [v-: futrq-$rRrrq uei fr€flffq :
f i f u r s d r a r g f u r

86. r+qrorsa r< ,!uer sqtr o+qrq{ (otr-Rrrys q{sn qtq) + rqq +{qT mq vqiFffi
EHftr z
(1) Tqd.sTUT - qft*cun - gT$?TRI - ItrisT
(z) s{ft}tun - rq-fioluT - silzrnl - Tflisr

. (B) sTFTlruTr - xq-frfi{uT - Tflisq - qrzrnT
' (4) xK-dlq,{uT - 3{FT}rtrT - I[(qi+q - qrqq

' 57. 3iTqsi mqr if or=it or $4T *.ka +,'G * fmq +t+qT dt-+,r q-dt sTfbs sr6r Elm ?
(1) sA sfdd 6qrdn q,'{+ * Feq ftqr
(2) qngrTlif t qi fi qqof sqTI +) +ilr+fi t{r
13y miwr f{qri..rffi q} qrfl qr} + lce q,tqr

(4) rQ fxqmanit il ezrsa reqr

b8. f€rfi q qgqrq qs-{s{ q q{qr qqFra t I Fr€rcFr *, r+q,q q qger+ rqe rsn
qtqErqq-tvqard ?
(1) sTrfi M tfi
(z) oTqi qd qq*,'{

(B) sTrftd q6rqin ts{
(4) srqi garq t*-{

5e. RRrs +1 gw ffi t ' ,,,
(1) qd sTFrIrq ryltit qfr +qqr ffiHT
(2) qlqur 

i . :"
(s) sTfsflq 6) xqr* Fc{r
tal rn=if +) eqr fr frqna {sil

60. frRTs +1 e{rEM sTTfr 6sr fr +ffi +fi @ ?
(1) TA E J|-{d

Q) gFR q RTq

13; intvrr {igron
(4) r-fr.ir 6r r+e a drFs ffi .ifu r+ gqlE t
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61. Which should be thc most desirable behaviour of a teacher in the class ?

(1) To be a strict disciplinarian

(2) Flaving laisscz-faire attitude

(3) To be democratic

(4) To be permissive in the class

62. The best way to handle a wrong answcr givcn by a studcnt would be

(1) to explain the subject matter in further detail to make him realize his mistake

(2) to explain why thc answer is wrong

(3) to scold him for not learning the lesson well

(4) to ignore the wrong answer

63. 'Meta-cognition'is related to

(1) art of teaching

(2) knowing about environment

(3) art of lcarning

(4) None of the above

6;4. A student usually misbehaves. What should you do as a teacher ?

(1) Givc a suitable rebuke

(2) Give example of some other students behaving properly

(3) Report the matter to parents

(4) Make sure he realises undesirabitity of his behaviour

65. Kindergarten approach is child-centred which is indebted to

(1) Dcwcy

(2) F'roebel

(3) Montessori

(4) SPencer
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61. sffintrtrF sr 6qTr q Fq?Frs qidtrq qr6n tsr il{r qrRq ?

(1) sTFd ffis
(2) 3rEs6sqfu

(3) FTlditrs
(4) isqT q sqra{Er

oe. r.n\lr rr,ra h|{t jtcta srR- T[ Ffi-eT E6[ IrqITtlcF stlTm (l-{rfr.I 6rrll

(1) frqq-qq ft1 sTk tqqd q-€il Rrur$ yQ saqi rrofr qr srdqr€ A s+
(2) qrcil qrqr f{ ffir rRkT qqi t
(B) qrd srd ar6 q *q+ + fdq sS weq,rcqr
(4) rrcrd s+t q1 erqtffir q-€r

6s. 'eilqq-{i{H (tcr-qiFrflq)' sT qril*T t

(1) fuqTur-q.dr t
(z) qkil?fiur 6) qFT+ +
(a) eTFrrq oer q

(4) w{ffi fr t fsrfr * qrq rfi

64. qs E|:r qrr 3T$E qdr6R mrn t I gs erqrqs * w fr Es+ qM 3{rq *S t{r
$rr{if ?

(1) sfod qfr-s{-r tt
(2) sK qr6R q.G qre gE srq sr=if qr sqerut ti
(B) qFTqqqit t ftqr+d dtt

\4) 
"E, 

V.'-iffi'6FT m qa- qqq sTqtg{rq aTT6n -n qOqq 6t

65. f+s{rrrzh qs ft{-*kd Rrqfl t Rqffi tq qrdr t
(1) s.{$ +i
(2) sTild s)
(s) dN +
(4) +ffi d
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66. Which of the following does not support child-centred education ?
(1) Child is good by nature

(2) Child learns through experiences

(3) Child can only be taught by teacher

(4) Child should be exposed to suitable environment

67, Which of the following combination of sources of knowledge should be the most acceptable
to d teacher ?

(1) Common sense, observation, rationality

(2) Observation, rationality and intuition

(3) Metacognitioo, rationality and introspection

(4) Intuition, observation and metacognition

68. The result of practice on the performance of skills has best its roots in

(1) frequent informations on success

(2) demonstration shown by experts

(3) summative evaluation

(4) knowledge of results to be achieved

69. If a student is restless sitting in the back row of the class and repeatedly stands, looks
forward and takes notes, what can be the most probable cause for it ?

(1) It is his usual habit

(2) Blackboard writing is not legible

(3) The child wants to get the attention of the teacher

Q) The child may have defective vision

70, A teacher has to disseminate certain factual information of the subject he is teaching. What
would be the best way ?

(1) Displaying the information on the board

(2) Organizing it into bodies of meaningful beads of information

(3) Distributing leaflets

(4) Dictating notes in the class-rooms
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66. Frqfdfud fr t +h qrd-tFtr frTqTr q) iffiE{ rd if,r ?

(1) RI{ w$fds qq t 6 erar t
(z) erg rurr+ t *s-dr t
(B) frru q1 +{d Rw* A fuur v+-m t
(4) Rrg d sfud Erf,i+rrr t nftTqrk +-c{r qrfdq

ez. Rrqq * fdq {H t *.ii qr ffiFm q fr 6t{qr {iiq{ q-ciFrd tffi aql
qTfdq ?

(1) qrsnq frq, er{dq-{, qlfus

(z) erEfrfr-q, qtfffi q ffq
(B) 3rqq-{{H tta-qfn-+vn), qtRrd q irir&fr

(4) sffi, sf,-drcimq q 3ilqE-{i{H 1qa1-eilF-+vn)

68. qr{rd ffi q eilqrq + x.nq q,r rqm i

(1) q$c,rf,r qi qrtqR q+tr ea re+
(2) f4{Iqtii enr {fita q,'rqr

(s) qisFtrs {ei+q
(4) FTqfr + qRu{rq *l vn t+

6e. qR qqi 61 F1.6id ritu it d61 +i ffi ++q A w A efu qR-qR Wr Adr A,
qTt |q1r d nqr +u.q fds w d, tr vs+r qq'$ gATE 6RUr *1 fr v*en t ?

(1) qo ss-+1 qTqRuT er(c t

(2) {qmrg +i ftrsr$ wi +"q =ffi t

(3) st:{ 3Ts:Trqs fi s4rq 3Tqfi *r qTFg o({I q6dr t'

(4) ord qt Etr t Aq Ei vqar t

zo. +\g eTearrs s{qi Eri qrd tqsq +1 go dcqriqin qqiT( 1a urun t r Yv} frq

Riiilq ntr+r qr orn ?

(1) E+Tr rg w q44P1i1 d mq* t
(z) {q qfir d etff *A-d-A q+arctt fr 3TIfrFa *t
(B) qtr qf)

(4) sqr it +{q frrsq(
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7l. Why should there be discipline in any class-room ? (Select the best in your opinion)
(1) children shourd feel that it is a legal requirement
(2) children shourd realise that power rests with the teacher
(3) children should perceive the benefits of an orderly world
(4) There are benefits in follorving rules

72' what would be your normal reaction to the novel idea presented by a student who calledyou a liar a day before ?

(1) You will accept it and praise it

(2) You will ask other students to examine it

(3) You will ignore it

(4) Knowingly correct, you will start examining it

73. If a student does not understand what is being taught, the teacher should
(1) repeat the lesson

(2) give more examples for practice

(3) ask for tuitions

(4) check up the previous knowledge

74' which one of the following combinations would be the most effective study skills in socialsciences ? [P _+ 
preview; e _+ euestion; 3R, __+ Read, Recite, Review;

4R, -+ BR, + Reflect; S _+ Surveyl "

(1) S Q 3Rs

(2) P Q 4Rs

(3) S Q 4R,

( 4 )  P Q 3 \

75. The best way to reform our examination system would be

(1) to have internal evaluation

(2) to have external evaluation

(3) to have both (1) and (2)

(4) to have none
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7r. ffi qqi fr ergrrcn or dqr +it err*q-*, t i teTrqt ry qfr-{q * gil

(1) q--ii dr 3qrq q,'ciT qrfdq f* re qq 6r{fr' eilE[qq-f,r i

, (z) qd +l Kq ocn qrRq f{ RRrd it sTRr+n f{Fo d-dr t
i -t --\ -----------6-- - \ \ - \\ '.(;'Y., (B) {-di q1 6{qR{d q'rd * srqe Trqfl g1 urF(

(4) F.oif qi qrt fr Erqe t

72 .  q6 f f lS f f iomi  s i lT+1 q i rqET Iq€ t f f i f f iq l -+*s+t i {  s }e r$ fqqrq
srd s.rt ii qTr+t EFTIf{s sfrffiqt,wr t},fr z

(1) ainq gt **,n fi q{i$ stt

' (z) env {gt W eRr Tri sfq s{rqi

(s) qTq E{r*1 eieTr *,r tt
r \ A 9 -

(4) Td vrai g< ql fr sm vfr t, g{rq 5sd sfq {5 q.{ ti

7s. qfq ffi ffi s) n qq:+r w W a q \Ttrfl ii eTr €r A, dT a+qrqfr qi

(1) .na q) t'qnr rar+r Enfdq

(z) sTqKT t firq eir <reiq t+ qrE(

(B) rur+ * fdq wa+ qRq

(4) Xd vn qft{rr qc{r qrFq

74. q1-qr6rs fdrq fr .Th.{{ d-{rd qfr fiFqfrfun {Wt€}it fr fr sqfFrs {qr{{rfr {€-er 4tam
frfr U 1p -+ {dq{iq; Q -+ YFI; 3R, -+ Y-6{T, {1'6 rq1-qq 5qfl, gqms-{;

4R. + 3R. + H;il;T; s -r {rileilur1

(1) s Q 3Rs

(2) P Q 4Rs

(3) s Q 4Rs

(4) P Q 3Rs

| 
' 

7d. Eqrt qtq{r $rnd t $m *,r vfraq ftdr a'n

(1) stidiRq {ets"
.(z) qrd 1eiq,q
(B) rrl q rzl iit
(4) F{f n qir$ S r&
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76' one of the following four terms does zof belong to a category to which the other terms
belong. Identify.

(1) Discovery learning

(2) Inductive

(3) From example to rule

(4) Expositorylearning

77' The controversy regarding admissron to nursery schools arises as a result of

(1) Decision of Court

(2) Ganguly Committee Report

(3) New Education Policy

(4) Kothari Commission

78. Schools should be concerned with (Select the best)

(1) developing human resources for nation

(2) developing a knowledge respecting man

(3) preparing individual to live a decent life

(4) developing a good human for the nation

79. co-curricular activities are useful to students because they are

(1) useful for all-round development of learner

(2) useful in fulfrlling their deficiency in academics

(3) useful in students, self-expression

(4) useful in tapping their engrgy

80. The best way to appreciate students work would be to

(1) give the material rewards

(2) give them certifi.cates

(3) display their work in schools

(4) grve their parents rewards
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76. Frqfufud qR rrEi it t q+ qE sf,;q qiit t Fr* t I v{qri I

(1) 3Tffirs sTfiFrq

| (2) ffi
t '
I (B) sqrf,{ur t FTqq

" (4) sTFrfird sfBrrlq

77. qdqn T$fi ffii fr q+{r f{qr( + W fi t

(1) dd or +q-dT

, (2) ffi ol-A frqld

(3r d frRTr fifr

(4) ffi q,mrn

78. frqfa1di s] - t qqf*l-d 16{r qrFdq r (qqtFffi sq$ 6T qfi 4t)

(1) ug t fue Err+q riqrrii I P*+rv

(2) TFT ffr qtrtt=r q'{i qrd qr+q * f6rs

(B) qs 3rd ffi fi * frq nf.r- Q) dqR o,,{i

(4) ng * sI.A rlrrE + f{+rq

7e. drif + tdq q-drnfr ffi gqfr'fr t e.iffs a

(1) el*dr + Fqf'n'r kdrq q sqq}fr *

(z) g{-*i *m sry] dr tffi 6,ri fr lqfr'?r t

(B) Mfii a1 s-qftsft fr 3q+fi t

(4) s+qir qqar eir rqfEd q,ii fr sqqlir t

80. ffql|ftii * q,H fr} q{T6t qT vqfr eil6T qtnr frrr Fd

(1) str5T :ITIf,S sWR lR q,l-

(z) s€ wTM-rl,t frN qrq

(s) ffi it gTt nd EFt rfih E)

(4) srs sTFTqTFFT q.r 5{HR i{q qiq
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PART B

SECTION V: SUBJECT COMPETENCE

(i) SCIENCE

81. The following type of medicines arc used for treating indigestion :

(1) Antibiotic e) Analgesic

(3) Antacid (4) Antiseptic

82. A solution turns red litmus blue. Its pFI is likely to be

(1) r  (2) 4

(3) 5 (4) e

83' Three resistors, each of 3 ohms resistancc, are connected in parallel. The equivalent
resistance of the combination is

(1) 1 ohm e) 2 ohms

(3) 3 ohms G) 9 ohms

84'' The image of an object formed by a convex lens is inverted and equal in size. If ,f is the
focal length of the lens, it can bc conclud.ed that the object is placed at the following
distance from the lens :

(1) f  el  2t

(3) infinity (4) None of the above

85. A body has the following weights in different liquids :

6 N in liquid X

7 N in liquid Y

8 N in water

9 N in liquid Z

Which liquid has the highest density ?

(1) Liquid X e) Liquid y

(3) Water (4) Liquid Z

86' Pulses are not cookcd properly in an open vessel on high mountains because on mountains

(1) the boiling point of water is reduced
(2) the boiling point of water is incieased
(3) humidity is low
(4) humidity is high
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TTTTT GT

t|ugv.ftqcrrrf,Hqrsrcil
(i) frflq

8r. qsui (6-q) q{ 6{i * fdq ffitu( rqn qfi o+qft1rif t t qtqfr ugo dfr t ?

( 1 ) W
(3) Ws

. sz. rc fre fr vrq firs{q d fie d ccs tdr t, s{lt6't pH FTqfdfufr dt * qqr+al | ;
( 1 ) 1  Q ) 4

(4) e(3) 5

8s. rS* g ohms {ftTttl (Resistancel qrd *q Yfdfrrd (Resistors) {rIFIltR eq t qqq t r

El$ *sR * S,i-fi q.l gw qfdtq (equivalent resistance) t

(1) 1 ohm Q) 2 ohms

(4) 9 ohms(3) 3 ohms

84. ffi +q qr qftREq q) firf, niq (Efq+tr dql t q+ar t {6 s€t (inverted) nql giliF'ft

|i qqn a* t r qR ifs m +*.s EQ 'r t, + qst qe Frq;{ r{drdr qr ssilr t fr
q6 qq dq t FTqkfun ES vt rd r$ t ,

(2)

(4)

(1)  f (2) 2f

(3) sFl<rdT (rnfinity) (4) 
"r$ffi 

fr t dr$ qfr

88. fird-R1d g-q qqrqT ([quids) t ffi aq t FTEqfdfuT {R (weieht") t :

6 N FE (Liquid) X d

7 N FE (Liquid) Y it

eNwf ,  i f

eN r f  (L iquid)zi l

f*"s liq d FqtFffi q;f€ (Dens'tvl t ?

(1) (ct (Liquid) X Q) Ff Giquid) Y

(3) WT (4) 3i4 (Liquid) Z

86. *+ q+dt qr gA qdq t ftt d|* tne t qA q6fr Ffifd q*it qt

MreqR-s
tstn?rs

(1) wT * sdrf,t Efi't R€ (Boilins point) ffi A qrdT t

(z) wT * eqf,i qT Fg (Boilins point) re qffir t

(B) sTridr sq *-fr t
(4) sTfdr sTfirs *-fr t
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87. Normal conversation (as on
the Moon has

Earth) between two persons on Moon is not possible because

(1) no atmosphere

(3) low temperature

88. Doctors examine the

(1) Pyrometer

(3) Stethoscope

gg. kidneys in human

Nutrition

Respiration

90. Which of the following

(1) Insulin

(3) Oestrogen

patients using

beings are

is a plant hormone ?

low gravity

high temperature

the following instruments

(2) Barometer

(4) Thermoscope

mainly responsible for

(2) Excretion

(4) Digestion

(27

(4)

The

(1)

(3)

(2) Thyroxin

(4) Cytokinin

91' In case of lightning the flash of light is seen first and then we hear thunder after some
time because

(1) Speed of light is greater than that of sound
(2) Wavelength of light is greater than that of sound
(3) Frequency of light is greater than that of sound
(4) Place of origin of flash is nearer than that of sound

92' When a glass prism produces spectrum of white light the following phenomena are
involved :

(1) Reflection and dispersion

(2) Refraction and diffusion

(3) Refraction and dispersion

(4) Dispersion and diffusion

93, A normal human eye forms the image of an object at its

( 1) Iris e) Cornea

(3) Pupil @) Retina
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(2) SrirymfuT sq diTr t

(z) Ai{zR
(4) Em(qlq

8e. rEuit t er< 9-ffi Gidneys) ger qq t ffi Foq src<rfr t I

(1) qlqtT Q) Tffi-fT{dq

(3) w{n @) qrq{ (digestion)

eo. frqfufun fr t CffiT qrcg ETtrr t ?
(1) iigfrq e) ,Tr{tT1Effi

(B) e@dq (4) ffi

(2)

(3)

87. qqqT t sqr A qffi * trqyd dr dc6 qT qFnq qrdtdrq selzr rfr t qdfs qqrTr
if

(1) qrdr{{ur qa ailr
(3) f,rrl-rrFT s-q af,r t (4) drrlrrH qKr *dr t

88. Er€{ tffi +t qiqTr ffifud sq*,.{'it +r rfrr wh +G t '
(1) q'ret*T{

(B) €rfrRlq

el. ffi qrsi $ qqq M qfr qrs q6e M qgdr t eth go qIr{T EK oq ffi
q.s*+ +1 enqm g{i t r tsr {sfdq t qdtfu

(1) bqF fr1 sTtqnT :FFRT sl Tfr sTfsm alq fr-fr t
bqtr sl sTtqnT trfirqrr s'r ffiTed (wavetengrh) BTflrs Af,r t
qtr sl srtenT jrcFf{r sl silgfr sTflTm Afi t

(4) sqtr +1 sTtqTr w6 (flash) q,T sqrrq wm s{nrfr f{dz *-dr t

sz. qq *$ Efq first vi'a xqrqr *,r qufmq (spectrum) srwr *tdT t, d tmFsbc qFctql

{nfir€ d-fr t :
(1) I|{qtr{ (Reflection) deil *5TUfi (Dispersion)

(z) 3{WiiT (Refractionl nqf fqs(uf (Diffusion)

(g) sTq{dq (Refractionl nqf f*tuta (Dispersion)

(4) T+1ut{ (Dispersionl nerl frWur (Diffusion)

es. ffi qK qr qfdRq qwfq rgw * i? * f*q sTrrr qt q{f,r t u

(1) 3Tr{Rq (2) sTffiqT

(4) ttriT

( 4 1  )

(3) qRIT
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94, which of the following groups contains a non-biodegradable item ?

(1) Grass, flowers and fruits

(2) Grass, wood and plastic

(3) Fruits, vegetables and cakes

(4) Grass, vegetables and wood

95. Depletion of ozone layer in our atmosphere is mainly caused by

(1) clouds e) sun

(3) hailstorm @) chlorofluorocarbons

96. Iodized salt reduces the chances of the following diseases :
(1) Cancer (D Goitre
(3) Diabetes e) Hypertension

97. Deuterium is an

( 1) Isotope of hydrogen atom
(2) Isobar of hydrogen atorn
(3) Isotope of helium atom
(4) Isobar of helium atom

98. Unit of power is

(1) Watt

Q) Joule

(3) Newton

(4) Watt/second

99' The device that uses ultrasonic waves to measure the distance, direction and speed of
underwater objects is called

(1) Laser e) Radar

(3) Sonar @) Amplifrer

l0O. The site of production of RBC in adult humans is

(1) Liver e) Heart

(3) Blood @) Bone marrow
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s4. ffiFgf, fr i f6s Ei + 3a;ilia sFSE-FTffiq (Non-biodegradable) Tq t ?

(1) gfq, $sq f,eIT t5('f

(2) gR[, ild.s dql wTks

(3) wr, qql nql affi

(4) qTg, q-q1 dqT flw1

eE. Aqrt qTf,T{iur fr effi{ .rcd * fluT (Depletion) 6t qcq qnol t

(1) qKf,

(3) 3ilmT-gE

' e6. orr+*{gtr qq6 t++ fr p4qp666 q t f+-q t'r t e}i qi

(1) *gt

(3) qgt6

s7. *Rq'q Hr t ?

(Z) ffirT (Goitre)

(4) ffiffq (hypertension)

E{
@sttMq

(2)

(4)

(1) ET{dq{

(2) 6lE-"dqq

(B) frfrqq

tg|{

tffiwq{

(2) €fl

(4) 3Tr€TNTT

( 4 3 )

q{qrT sT sTrsdq
qTryr5 qT qT{frqR

wrTE sT $lTsstc}q

(4) €tftw q-{1ruJ qT 3nT{m-dT{

e8. vrlin 61 {n{ nr t ?

(1) q|J

(2) {f, (Joule)

(3 )

(4) qz/tsus

F
ee. re gfu (device) S qTfi * 36q{ q1 eq.ii fr qfr, fq{n dqpTfd S qrqi + ffl

s$ilqq1 atil Bwtq Hrfr t, iliil-fr t

(1) Aq{

(3) qlql{

100. t1d ruq * sn<I eTR.*.S. gffi{ m.{t fl €tR lhvr A ?

(1) fflR (Liver)

(3) {tr
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(ii) MATHEMATICS

rol. If x = g 4J8, the value of *2 + + is
x-

(1) 324 (D 322

(3) 256 (4) 18

LOz. If A = g, the value of A - 1
- r  

X _ l r  
u l r s V a I t I e U I  A - A  f S

(1) 
?:

(3) 
;=

Q ) #
x o - 1

(4) +r-
x o - 1

f03. Three bells ring at intervals of 36 secs, 40 secs and 48 secs respectively. They starb ringing
together at a particular time. They will start ringing together again after

(1) 6 mins

(3) 18 mins

(2) 12 mins

(4) 24 mins

l o 4 .  I f  t h e H . c . F . o f  p o l y n o m i a l s  x 3 - B x 2 +  p x + 2 4  a n d .  x 2 - z x + q  i s  ( x - 2 ) , t h e v a l u e o f
( P + q )  i s

(1) s Q) 20

(3) - 20 Q) 40

105. Two numbers are in the ratio 2: 3. If 5 is added to each number, the ratio becomes b : T.
The smaller number is

(1) 10 Q) 15

(3) 20 @) 25

106. The hypotenuse of a right triangle is L m less than twice the shortest side. If the third side
is 1 m more than the shortest side, the shortest side of the triangle is

( 1 )  3 m  ( 2 )  4 m

( 3 )  5 m  ( 4 )  6 m

107. Divide 116 among four parts such that 5 added to.first,4 subtracted from second, third
multiplied by 3 and fourth divided by 2 give the same result. The fourth part is

(1 )  22  Q)  31

(3) 54 @) e
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1 0 1 .  f f i  r = 9 - 4 J 5

(1) 324

(3) 256

ro2. qR A- =+ a,

(ii) rlFrd

d , n )  x 2 + +  q T q n t
x '

(2) 322

(4) 18

(2)

\ 1 \
f , r A -  

I  q T q H €
A

* 2  - L

2

I

* 2  - L

2x2
(1)

(3)

x 2  - L

4x(4)
* 2  - 1

Log. *{ q"} ftetts) go tqos, ao t*'ts dstT 48 t-srs t in-trnd qt 6rrfl: qqe t r qd ffiq
qTfq q{ qs {q'i ci r q-f,r{q ql--cRr qrfi v6i ffi €.q-q q{qr{ qifi r

(1) 6lq-{e
(3) 18 Frl-d

104. qR {grd x3 - g*i * px + 24
6I TTFT T
(1.) 0
(3) -  20

l o b . A r f f i z : g t r y i f t l
t I gqii de €cqr t

(2) u fimg
(4) 24fi{'{,e,

dqT x2 -7x + q 6T rtildq qqqqds (x - 2) d, fr (p + q)

Q) 20

(4) 40

qR T'dH Ssr it b frgr qrq, fr sEqln 5: z d qKT

(1)  10

(3) 20

(2) 15

(4) 25

'  (2) 4fr.
(4) 6 fr.

(2)  31

(4) e

( 4 5 )

106. !t-s {Tdur ffltq sr 6ut f{Tq m F{t dei yw + ggi t r fr. qq t r uR ffir 5ur
qq-0 dE 5wrt t q. ffi t, fr r{Tq qir Fd$ d-a Yer t
(1) 3 fr.
(3) 5 s.

ro7. rro d qn qpif it {q rqn Frro mf'qq f* qefr qpr if s ffi vt, qfr tTrl t + qat

qr, ffi ,Trrr s) r t Un ori qr nqr qlt ,ntr q) z t .rrr qrt qr qqn {icqr qrq

Afi A r d?Tr q-rr t
(1)  22

(3) 54
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L08. The population of a town is 80000. If the population increases annually at the rate of
75 per 1000, the population of the town after 2 years will be

(1) 86000 (2) 92450

(3) 92540 (4) 92054

f09. Three cubes each of volume 725 cnrs are joined end to end to form a cuboid. The surface

area of the resulting cuboid is

f 10. A solid right circular cone is 8 cm high and the radius of the base is 2 cm. The cone is
melted and recast in a sphere. The diameter of the sphere is

(1) I75 cmz

(3) 300 cm2

(1) 2 cm

(3) 4 cm

(2) 200 
" 

2

(4) 350 .*2

(2) 3 cm

(4) 6 cm

rrr.  The value of 
2cos67" -  tan4Oo 

- s in 9oo is
sin 2Bo cot 50. 

- sin 9o' is

( 1 )  2  ( D  - 2

(3) 1 (4) o

l-l2. From the top of a building 60 metres high the angles of depression of the top and bottom
of a tower are observed to be 30' and 60'. The height of the tower is

1f3. The distance of the point (1, 2) from the midpoint on the line segment joining the

points (6, 8) and (2, 4) is

(1)  20 m

(3)  30 m

(1)  4

(3) 6

(2) 25 m

(4) 40 m

(2) 5

(4) 8

Ll4. A bag contains 5 red balls and some blue balls. If the probability of drawing a blue ball is
double that of a red ball, the number of balls in the bag is

(1) 20 (2) 15

(3) 10 (4) 8
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r08. lt-s rrdr et iil-{isr soooo t r zrR $Hm qrfrs gfq * qt zb qfr rooo d, fr A
qtr t srqr( lrd{ rfr' q+tqr fr,fr

roe. 12b EFr ifr eilTtr{ t frq qqn qil * qcw qTet {tr6{ ffi t Eq $5R t dgr
'rqr fr gs q{rsT q{ rrqT l ss $FR qt q{r.T +t yS+ Srq-d A'[

(1) 86000

(3) e2540

(1) L75q,f tt

(3) 300 qrt tfr

(1) 2 tfr
(3) 4 tfr

11r. 2 cos 67o *ti 
19= - sin 90'

sin 23 cot 50"

(1)  2

(3) 1

(D e2450

(4) e2054

(2) 200 Et am
(4) sbo q,t tfr

rr0. qs *s aw 7fru {iS +i qr{ effi t deil erem fi fq zi{ t r qq qr$
q] Ftqf,rq.{ q* riler ffirq rrqr' I tili or qre t

(2) 3 tfr
(4) 6 +fr

ST EIFT T

(2 )  -2

(4) 0

rrz. oo fr. if* Are'r + {fr{ t q6 mqn + vfr{ aqr qn } gFFIFT 6}q x.qq, 3e'
nqr oo't 1 frfl-q qfi ff t
(1) 20 fr.

(3) 30 fr.

(2) 25 fr.
' (4) 40 fr.

(2) 5

(4) 8

(2) 15

(4) 8

lls. frg tr, zl fr frgrft (6, 8) ilett (2, a) d ffi qre tqFw * qto{-tr€ t (fr t

rr4. gs +A fr s eil?r ilt aqr g;e ffi nt t r qR q* fi-d rk d Flole+ q1 qrfu*,,dr

dro rrq +) ffi d vraqar t gJfr A, fr +A fi ftif m {lsr t

(1 )  4

(3) 6

(1) 20

(3) 10
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f15. The average age of boys in a class is 13 years and the average age of girls in that class is
12'5 years. The average age of the whole class is 12.8 years. The ratio of the boys to the
girls of that class is

( 1 )  L : 2  e )  2 : B

( 3 )  2 : 1 ( 4 )  3 : 2

116. Each side of a rhombus is 13 cm. If one of the diagonals is 24 cm, the tength of the other
diagonal is

(1) 10 cm

(3) 15 cm

(2) 12 cm

(4) 20 cm

(2) 25 days

(4) 15 days

(2) 30

(4) 18

( 4 8 )

ll7. The sum of the roots is equal to the product of the roots of the quadratic equation

2x2 - (3k + 1) = k - Z. The value of k is

( 1 )  ?  e \  - ?
3 ' - ' 3

(s )  - :  (4 \  q
2 ' - ' ,  

2

118. The least number having four digits which is a perfect square is

(1) 1004 Q) 1016

(3) 1036 (4) None of these

119. A takes 10 days less than the time taken by B to finish a piece of work. If both A and B
together can finish the work in L2 days, the time taken by B to finish the work is

(1) 30 days

(3) 20 days

120. The sum to n terms of an A.P. is given by Bn2 + Bn. The btr term of the A.p. is

( 1)_ 36

(3) 24
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115. w fr *.crdi. s1 3{rg s'r
qTsq Lz.s q$ t r gfr sqT fr1
qrRspiii sT sr{rrd t

. 1  . c )( 1 )  1 : 2

( 3 )  2 : 1

116. r|s sqqs{q s1 @+ 5ff 13 t"} t
d r W { f f i i l a w r e o

qT?rT. 18 E{ t dqr ss sqTI 'fr ETffis'rsii sT qrg st

Eil|q s'r qTs4 L2.8Es a, a w 6il fr mrd f,sT\,

( 2 )  2 :  3

( a )  3 : 2
).

t q R { s

l

\  f \ ,

12 {rsTI i

20 tfr

l {q qqtin Adr qr ff Tq t

z4rtfr d,

(1) ro tfr
(3) 15 ftq1

LL7. l-dqTd qms-'{uT 2x2

KST qFT f

2(1)  
;

(3)
, 2

-(3k+ |) = k-?t qiit +r 1ry {S t 
T"rvq 

t sqrq t

Qrit) -- 
?

(4) z

M +

rr8. qR etc 61 e}'-A t frS $gr q) ffi Wf E{ t, t

(1) 1004

(3) 1036

11e. ffi fld

ss s'rd +1' '

(?) 20 rqq

120. !$ Frqif,{

(1) 36

(3) 24

B. Ed . t2007

(2) 1016

(4) FTn t q}$ Tfr

d qtr *-r+ fr ed et rofEq *,q Fr'ril t r qR *ii AttstT sfuf,dn{
iz fq{ d qn w q*fr t, fr B d qr+fr w s,rd +1 6.ri if sqq dtqT

(2) 25 rfi

(4) 15 R{

n qET ST qirFFq 3n' + 3n E

12) 30\ r

(4) 18

( 4 e )



(iii) SOCIAL SCIENCE

1,21. Which amendment of the Constitution has provided constitutional status to
Municipalities ?

(1) 52nd Amendment

(3) 7dth Amendment

122. In the absence of both the Presidcnt and the Vicc Prcsident, who shall act as the President
of India ?

(D Speaker of the Lok Sabha

(4) Deputy Chairman of the Rajya Sabha

123. In which year did the industrial policy express the concept of a mixed economy for India ?

(1) 1948 (2) 1951

(3) 1954 (4) 1956

124. World Investment Report is an annual publication of

(1) Prime Minister

(3) Chief Justice of India

(1) IJNCTAI)

(3) W'I''O

(2) 44th Amendment

(4) 76th Amendment

Q) World Bank

@) IMtr

125. Panini and Patanjali are the renowncd names in the Literary l{istory of ancient India, and
flourished in the dynasty of

(1) Pushyabhukti (Z) Sungas

(3) Kushans (q Guptas

126. Mahatma Gandhi was frrst referred to as the Father of the Nation by
(1) Vallabh Bhai Patel
(2) C. Rajagopalachari

(3) Jawaharlal Nehru
(4) Subhas Chandra Bose

127. Which is the westernmost limit of the Siwalik Hills ?
(1) Pir Panjal

Q) Potwar Basin

(3) River Kosi
(4) Morni Hills
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( i i i ) f f i fuH

. rzr, riFsTH * ql=r+ trqr i Trfirfus'pit q} *rnqrno ftffi vqn q1 t ?

n) szq {ftiq{ e) +ae {i{itr{
(B) zai'xiqileI{

rzz. rffi w w-ngq6 +if qi ft qt{rtr fr sh qno t trqqfr 4;r qr{qn ffii ?

(1) qsTri rifi e) fr* qtTr 3Tqq{
' (B) tTR-d t gw arwutw (4) {rwT Hqr * sqrsqqT

, rzs. Et{S q{ d s+dFm *fr i qrca * fdq FfrR sndqE{qr qi r+*,enr * 3TFrdq-fr
fsqr ?

(1) 1948 (2) 1951

(3) 1954 (4) 1956

"r24. Tsd . qrifa fis)d, trry qrff-s :roR1q t Z
(1) {ltr.S.d.q.S; 

' (2) qd +s
(B) q121.4il. (4) e{r$.q.qs.

rzs. qTFrrfi G kffi qrfi'4 qna * qrRfus qfffirs t gqkq qTq t v] parapfuo q

n fflis lrRFI.FIcT q +.IsI enq w ?

(1) 5YT5fu
(3) sEruT

9   \  ^  a  \ '  \ .  ^

126. rrur.qr 'f* 6] q-Rtn +r qqi q-d$ .r{A ffi Rqr I

(1) qqqTtT ,Tf$ qle

(2\ ql. {|wfqff,lqRl\ a /  \ r - r  r r  r r \ r r - r \ l

(3) qqrdrf,rd td6

(4) qqrq qq qlq
€

(1) qR riqTiT (Pir Panjal)

(z) q)f,qT{ ARq (Potwar Basin)
\ ^

(s) qlql q{ (Rivcr Kosi)

(4) qh-fr t|-dd (Morni Hills)

B .  Ed . t2oo7 '  .
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129. A stretch of sea water, partly or fully separated by a narrow strip from the main sea, is

called a

128. The mass of the Earth is about

(1 )  85

(3)  83

( 1) Bay

(3) Lagoon

130. Thc lcngth of Equ ator is

( 1) 6378 kms

times of that of the Moon.

(2)  81

(4)  e1

(2) Isthmus

(4) Strait

(2) 6478 kms

(3) 7378 kms

(4) 8378 kms

fgl. The contemporaries of Kanishka are

(1) Kamban, Banabhatta, Asvagosha

(2) Nagarjuna, Asvagosha, Vasumitra

{3) Asvagosha, Kalidasa, Nagarjuna

(4) Asvagosha, Kamban

132. Which one of the following revenue items was collected only in cash under the Mauryas ?

(1) Kara (2) Bhaga

(3) Hiranya (4) Pranya

133. Indigenous banks are under the direct control of the

(1) State Bank of India

Q) Reserve Bank of India

(3) Regional Rural Banks

(4) None of these
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"LzB. 
Y?41 st ffi{H (mass) {rHr 4t gcrqT if WTtfr

(1)  85

\ (3) 83

rzs. v5fr qrT 6r +flq' (srretch) S xgq vgn t ffi qA (narrow strip) EI{t gtaet w
s{iRm sq t en.f,'r A qrm t, *il**r t

(1) rqr$ rnav)
, tal dlp (Lasoon) (4) sriTdq)rfr (Strait)

1Bo. WsqtcT (Equator) qi aiqr{ t
' (1) Gsz8 ffifi

(D 6478ffi

(3) 7378ffi

(4) 8BZ8 ffi

r'r. u'm t sq_firmt{ t
t

(1) d;q{, qIrrI,E, 3il[q*q

(2) iltTt'fr, 3t{qfrq, qgFn

(3) q-{cq, EF'fffiEN,, T'ns{
\ .

(4) stqctql-E, EFFI

r\-rrrrTr ;f I

: l " l l  Q  .  
I

(2) 81

(4) el

rsz. ffifun q g eilftfr wr*r sif +1 qtf qm * qlqq ftrfi iqrfr t sq { qfrr ftqr
qrf,T qT ?

(1) S-t (2) e+r{
a

(gl fflu-q : @) qu-q

I : rss. €t{fr (Indigenousl t*, ffi {flql ft{Tur fr t ?

(1) qrrfrq {ee +s

e) qlldlq nsd fu

(3) qKRTS qFTM ilS

(4) Eqq t 
"t$ 

1TI qfr
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134. .lt is impossible for a factor of production to earn economic rent if it

(1) is perfectly elastic demand

(2) is pcrfectly inelastic demand
'(3) 

is not a fixed supply

(4) has more than a single usc

135. Which one of the natural regions is known as the 'Brcad Basket' of thc world ?

(1) The Steppe region (2) The Meditcrrancan rcgion

(3) The Monsoon rcgion (4) Thc Equatorial rcgion

f36. Zawabits wcrc concerned with

(1) Laws rcgulating mansab system

Q) State laws

(3) Laws rcgulating mint houses

(4) Agricultural taxcs

137. Sir Thomas Iloe was accreditcd ambassador of the King of ltrngland, to the Mughal Court.
The King of England who sent him there was

(1) Charles I (2) Charlcs II

(3) James I (4) I-lenry VIII

138. Under which article.of the Indian Constitution can the President of,India be impeached ?

(1) Arbicle 356 (D Article 75

(3) Article 76 (4) Article 61

139. Who among the following initiated the Community Development Programme ?

( 1) Balwant Rai Mehta

Q) K.M. Munshi

(3) Ashok Mehta

(4) S.K. Dey

140. The Treaty of Bassein was signed by the Engtish with thc

( 1) Flolkar

(2) Peshwa

(3) Scindia

@) Bhonsle
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r  i - * - s(1) q6 Trkl-qr dlq qrIT €

(2) qE tufuqr i-dq qpr t i
/ a \  z  

^  d  ^ ' )
\d., {6 f€R 3Tf[d ;fdf t: -

.

lsb. FrE{fufuf,ttq1*t
(1) €fr (Steppe) dT

n \

Q) ws{{|.rKrq ffi
(3) qrqw $r (4) fr5ffiq *r

A A \. ts6. qlc|lf{e (Jawabits) fufA qqq t ?

(1) rr;RrEr qq-*qr qi fufFd ilq + frqq t
(D {-q fqq t
(B) -s-slc,T Td d Fqtre +t+ + f{qq t
G) q'rq sq*T sT {t

{rfl i sd tfqT elT, str5T il'rT qT
^

(1) ffi$ I
\

(s) sEg I

rs,z. m fr1s 1 a+ gr$rs * rrer i gqe q{qp ii 3dq{r qn s1s{ $qr qr r i'dw * fqs

(2) qr€s il
(4) trt vlr

rB8. qrrd-q dfuTrt * fus 'sr{tE t sftr'h ,Trcd + {rgqfr vt {drFrftr drTHT'qr qm.ilI t I
''] rl ,erg$q 356 {zt ugdq rt

rse. ffi€n q q i*.gq HgqTrq-s rqs.rs sFifiq +r gwin mr i
o \

(1) wf{f, {l-{T rr€aT

e) *.qq. g{fr
(s) .T{i-6 iffiT
G) qq.s. s

rao. 'figq (Bassein) qfi {il"{ qt si*it * wq @ ERRTr frq t ?
(1) tirw,i

\ .
Q) q{rEn

(3) frftrqr
' \ . \

(4) qRIET
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(iv) ENGLISH

L4L . Choose the word opposite in meaning to 'Abundant'.

(1) Ample

(2) Enough

(3) Great

(4) Scant

L42. Choose the word opposite in meaning to 'Cogni zattf.

(1) Ruminate

(D Unaware

, (g) Abridge

@) Cautious

L43.. The word 'adulation' means

( 1) praise

(2) sarcasm

(3) rebuke

(4) purity

I44. The word 'transient' means

( f ) lasting

(2) momentary

(3) animated

(4) evidence

145. One who ccjmes to settle down in a country from another country is called

(1) Visitor

(2) Immigrant

(3) Emigrant

(4) Tourist
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146. One who looks at the dark side of things more ofben is called

(1) Optimist

(2) Pessimist

(3) Wanderer

(4) Monarch

L47, Choose the correctly spelt word.

( 1) Retrieve

(Z) Retreive

(3) Ritrieve

(4) Ritreive

L+8" Choose the misspelt word.

( 1) Dialoge ::

(2) Repertoire

(3) Perceive

(4) Accelerate

. (1) Elephant of Kerala

(3) A snobbish person

'a

150. Choose what expresses the meaning of the idiom 'Bury the hatchef,.

r (1) Hunt for treasure

(2) DiS in the field

(3) Make peace

(4) Make war
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l5l. Choose the passive voice of lMho takes care of your infant sister ?'

(1) Your infant sister is taken care of by whose ?

Q) By whom will your infant sister be taken care of ?

(3) By whom was your infant sister taken care of ?

(4) By wbom is your infant sister taken care of ?

152. Choosc the correct indirect speech of

The tcacher said to me, "Pay attention".

(1) The teacher asked me to pay attention.

(2) The teacher requested me to pay attention.

(3) The teacher paid attention to me.

(4) The teacher said to me to pay attention.

153. Choose the most appropriate word to fill in the blank in the sentence.

We are confident

(1) about

(2) in

(3) on

(4) of

our victorv.

154. Choose the most appropriate word to frll in the blank in the sentence.

Distribute the money

( 1) around

(2) within

(3) after

(4) among

yourselves equally.

155. Who wrote the poem 'Th,e Second Coming'?

(1) Yeats

(D Browning

(3) Wordsworth

(4) Byron

a
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156. Who wrote the novel 'Dauid Copperfield' ?
.

(1) Austen

( , \  T \ :  - I _

.  
\ z r  )  I J I C K € I ) S

(3) I3ronte

@) IIardy

L57, Who wrote the play 'I)esire Under the EIms' ?

( 1) George Eliot

(3) Eugene O'Neill

(4) Ilernard Shaw

158. Which of the following is not a romantic age poet ?

(1) Wordsworth.  \ r . /

(2\ Keats\ a /

(3) Browning

159. Gabriel Oak was the hero of the novel

' (1) Return of the Natiue

Q) Tess of d'(Jrberuille.s

) (3) Far from the Madd.ing Crowid,

- (4) Mayor of Casterbridge,

i 
' 160. According to the communicative approach, language is learnt best by

Q) practising the usage of language structure

(3) learning grarnrnar and its usage

(4) using the four language skills in real life situations
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v. i. tot f ros *' rfu fttrrr : Rs,[',r5€oi q7a fi@q sdi qr< f rd qq yr.#
# ra-r ili?q t

+r gui cfrfi {igfird nTTfrs qqfqrur qt frsft erf,r t I qft{ si fi.6tr
Eq€EqT eilr n-wrq enrqq.drE r-ffd + *iE-*+ * Aqrs Tfr t 1 qqfq{ur fr fr didi q1
qHI 3il.Fq"F-f,r t sTfirs W qrfr A * qqf*ui q.r {d B{Fgea n-SuT 6r Fq A AaT t I
qnq *1 edrqrfr4, sildtm T'rfrs-ror, fF rer-cn fr Ek q-{i qi sqsplii i sFfr * xiger
d fflrr-so,{ r{q'T d rerqr t 1 qkn-qrd-qrqdi 61 gk, gS *1 .iqgq sa$ i qrarflrr ii
$mq{tw{ sl qql eilT srdE srq-s,f-ffi-{s +1 yk Ei 'ri t r frq d'fl-r oil{ {f-s €'fl-a aq'
Efi q-wi t qfr r{qtT W {6r t r qrar*ur qi Tfiil *.r Er{ sTqil Uq 6} TEq fr fdrfuEr
t G t I r{ror si gk + fdq qraq fr rscrqi t r em, Eet f{-cn'T + liTq vdqEq srqi
qTrRrs r{quT o} g *.r+I frm I gq+rtqq, tl-qe-E-dffi{uT, {rsfqfrfr t{silei qr FrrjrE,
6dq{ sqFTF{RTts qii, qr{it B+{ S'frd' d H + wdi t qqq Sqq qt r{rqgtr ffir-dr
et'n, n* qmq frfi WTq d e*fi t I
w^M^t arywtarry w ffifud wr (rcl I rcs), nwTt B"r frFeI t wq Fq rq' d I
wtu6@r t4 fu t
16r. qr+q fiqq +1 gc1 *l e-{Tqr qr v+-or t ?

L6z. 'sTsql 
!e s) F{4 ffiTUT t}' sr sTfiurq wrt ?

(1 )  f f i t
(B) Tigfdn qqtilpT t

(1) 3ilFTfieTr 6-f{T

(B) 'E:dH[ 
A qITI

r6s. qqfq{uT B{TrTil{ * ftK qh t ?
(1) qHF{ rrqyuT
(B) qpt Hi eitw$u trzT{

e) cn{isr t
(4) qrTrqrn qTurtr qi gfd t

(2) di s1 EJcsl & til
(4) qm-rE$rr s) jf$f, sr{r

!64. mrttfr 1q'frf, t ffi'q q?FR sr tr{yqE}f,r t ?

(2) sEfr jr$uT

(q qTTtffi ]rdiq

(z) tafr jr{q"T

(4) qHRq rq1"T
(1) 

T 
]r{q"T

(3) rrqrrut 5r{qrr

16b. 'getrrfrqq' t T.trg mq HI t ?
(t) IFr +{qTUT
(z) qS-{Hi, 3iqft{q} Hl $
(3) qrrcrq fr ilggfq
(4) IFFRTT gfd ffi te?Trq
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v. ri. too f rso + frrq.r?fu | nqppu vn+. v?? t rrd # qR-qR fu @'  r q d r r + f d € d f r f f i * i g e q - r

166. ffi'+1 rqqr fuq *tTqr if t ?
(1) dqqlw e) W*
tsr wi qldr (4) tf.ffi

167. {+q q ffi qq1 qr rqrq EqilTn rdt d ?
(1) +ildi (21 qffd

. (3) {iqn

168. '5rn{fi' sq:IRI ffii ffr t Z
J (1) W iq-q-<

(2) gfq+rdTd qqi
(3) s,qqwi
(4) rr'n-qqtq t5

r6e. 3Tssrq + sffi qr qfrqrs frqq Rr B :
(1) u<{Trg 12t). 3rcisnyng
(B) iTH*Flq-qutq (4) fiflmdT

\r7o. qffi +frfr ga rd t u
rrl {'m tzl arF{fl-cfq
(3) 3il{< (4) W+-

rzr. sTFrAqnR f+A q,ai t z ;

(2) 6,RrrlR
(B) vc*TT ffirnq {qqTq rEra
(4r 'fq€ Frqtrr od ql rwT

, frfit z
(1) ncl;|-{ 5ffut-qt

, (D F{wqq xlIIUI-w{
(3) n-{qqT qffut-T{

(4) nt t qir-$ =rfi

uB. 'nfrerqf rrdEfuq qfu ft"qq t q-{r t se fffq t +Ir {{ {laii t t qt{€T yr< ?E? t ?
(1) qvil+r e)
rs) m.-rI G) Irq+q
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r74. grq t ErH {q t ?
(1) r{cFFr f'R qr} s,r sk t I

(3) gn i sr"t ild Ss qA H-{I t l
(4) sg tf{ q-.d qrfr W rr{TT I

' t t \

r7s. 'gfr da E{I}' * eTd q eh-qr TtIE{I ruffi Anr t ?
(1) dt t qi ilqmt
(z) qid {g} q-r{T

(3) qrq w qrqT

(4) 56 s1 GHI

176. flt t ,tcg{q qqq frq Yro( fr t ?
Q) qlnz(1) ,m*d Q)

(3) foure];I

L77. '34-g11541' 6T fuilquT aTr
(1) 3tTrrltrfl e) eTrufem
(3) gTruLq @) qT{TTFIS

LlB. sftd tf, Ffi riq rf{, {gq{ qrf, rrirT I

EH Ae q totRrnr rd q qtq-qr qrisT{ A ?
(1) swTT
(2) s&qr
(3) 6SF

(4) {fo
Lls. xrf rza * Ae q 'gzf' f*.q yr,i( qI sTd A ?

(1) 3{q'FTR
(n Riq
(B) ffi
(4) uito

180. 'fr Tn gsTr qd I[d gsTr w] gln t ERH{ gruq'
EH orq-rifu il qTqTef wr t ?
(r) ffin qfu Uq qir q1q1 dnr i I
(D qrqrcii q g* q-{ s$Eral i I
(3) ffi q sdi qrnr S $FH Arr t I
(4) E'H s1 q rf{ gsTr -tq g=( wrdT e I
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